UNIVERSITY OF MISSOURI - Columbia Tuition Rates Beginning with the 2011 Summer Session Approved January 28, 2011

TUITION	2010-2011	RATES	2011-2012 RATES						
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate *	Missouri	Semester	None	\$245.60		\$261.60		6.5%	\$16.00
	Nonresident	Semester	None	\$646.10		\$688.10		6.5%	\$42.00
Graduate	Missouri	Semester	None	\$306.80		\$326.70		6.5%	\$19.90
	Nonresident	Semester	None	\$792.00		\$843.50		6.5%	\$51.50
Law, UMC	Missouri	Semester	None	\$504.10		\$536.90		6.5%	\$32.80
JD	Nonresident	Semester	None	\$995.30		\$1,060.00		6.5%	\$64.70
Law, UMC	Missouri	Semester	None	\$571.60		\$608.80		6.5%	\$37.20
LLM	Nonresident	Semester	None	\$1,131.20		\$1,204.70		6.5%	\$73.50
Medicine, UMC	Missouri	Semester	18	\$659.00	\$11,862.00	\$701.80	\$12,632.40	6.5%	\$770.40
MD	Missouri	Summer	8	\$659.00	\$5,272.00	\$701.80	\$5,614.40	6.5%	\$342.40
	Nonresident	Semester	18	\$1,312.10	\$23,617.80	\$1,397.40	\$25,153.20	6.5%	\$1,535.40
	Nonresident	Summer	8	\$1,312.10	\$10,496.80	\$1,397.40	\$11,179.20	6.5%	\$682.40
Veterinary Medicine,	Missouri	Semester	16	\$520.70	\$8,331.20	\$554.50	\$8,872.00	6.5%	\$540.80
UMC, DVM	Nonresident	Semester	16	\$1,324.30	\$21,188.80	\$1,410.40	\$22,566.40	6.5%	\$1,377.60

* Falls under SB389

UNIVERSITY OF MISSOURI - Columbia Other Related Enrollment Fees Beginning with the 2011 Summer Session Approved January 28, 2011

	2010-2011	RATES	2011-2012 RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar	
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change	
Information Technology Fee*	\$12.20		\$12.20		0.0%	\$0.00	
Ag, Food and Natural Resources Course Fee	\$41.40		\$44.10		6.5%	\$2.70	
Allied Health Course Fee	\$54.70		\$64.90		18.6%	\$10.20	
Business School Undergraduate Course Fee	\$35.50		\$52.80		48.7%	\$17.30	
Trulaske Business School Graduate Course Fee	\$75.00		\$79.90		6.5%	\$4.90	
College of Education Undergraduate Certification Course Fee**	\$35.50		\$37.80		6.5%	\$2.30	
Engineering Course Fee	\$60.00		\$67.00		11.7%	\$7.00	
Journalism Course Fee	\$41.40		\$50.70		22.5%	\$9.30	
Clinical Nursing Fee	\$166.40		\$177.20		6.5%	\$10.80	
Nursing Course Fee, Undergraduate	\$60.00		\$63.90		6.5%	\$3.90	
Human Environmental Sciences Course Fee	\$38.50		\$41.00		6.5%	\$2.50	
Science Lab Fee	\$11.10		\$11.80		6.3%	\$0.70	
Medical School Laboratory/Resource Fee***		\$540.00		\$575.10	6.5%	\$35.10	
Applied Music Fee		\$206.90		\$220.30	6.5%	\$13.40	
Examination Only - Graduate Enrollment		\$306.80		\$326.70	6.5%	\$19.90	
CE Instructional Fee - Minimum****	\$245.60		\$261.60		6.5%	\$16.00	
CE Instructional Fee - Maximum	\$792.00		\$843.50		6.5%	\$51.50	

* Falls under SB389

** The Education Supplemental Fee will be charged to all Education courses not just the undergraduate certification courses.

*** The Medical School fee is assessed per credit hour the first two years and per semester the last two years, but the amount is the same per semester.

**** This fee is equal to the resident undergraduate tuition rate and assumes a 6.5% increase in that rate.

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2011 Summer Session Approved January 28, 2011

TUITION				2010-2011	RATES	2011-2012 RATES					
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar		
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change		
Undergraduate *	Missouri	Semester	None	\$245.60		\$257.90		5.0%	\$12.30		
	Nonresident	Semester	None	\$631.90		\$663.50		5.0%	\$31.60		
	Metropolitan	Semester	None	\$245.60		\$257.90		5.0%	\$12.30		
Graduate	Missouri	Semester	None	\$306.80		\$322.10		5.0%	\$15.30		
	Nonresident	Semester	None	\$792.00		\$831.60		5.0%	\$39.60		
	Metropolitan	Semester	None	\$306.80		\$322.10		5.0%	\$15.30		
Anesthesia, UMKC	Missouri	Semester	na		\$10,302.00		\$10,456.50	1.5%	\$154.50		
MS	Missouri	Summer	na		\$6,868.00		\$6,971.00	1.5%	\$103.00		
	Nonresident	Semester	na		\$15,453.00		\$15,684.80	1.5%	\$231.80		
	Nonresident	Summer	na		\$10,302.00		\$10,456.50	1.5%	\$154.50		
Dentistry, UMKC	Missouri	Semester	16	\$769.90	\$12,318.40	\$789.20	\$12,626.40	2.5%	\$308.00		
DDS	Missouri	Summer	8	\$769.90	\$6,159.20	\$789.20	\$6,313.20	2.5%	\$154.00		
	Nonresident	Semester	16	\$1,534.40	\$24,550.40	\$1,572.80	\$25,164.20	2.5%	\$613.80		
	Nonresident	Summer	8	\$1,534.40	\$12,275.20	\$1,572.80	\$12,582.10	2.5%	\$306.90		
Dentistry, UMKC	Missouri	Semester	14	\$946.80	\$13,255.20	\$970.50	\$13,586.60	2.5%	\$331.40		
Graduate Certificate	Missouri	Summer	7	\$946.80	\$6,627.60	\$970.50	\$6,793.30	2.5%	\$165.70		
and MS	Nonresident	Semester	14	\$1,890.20	\$26,462.80	\$1,937.50	\$27,124.40	2.5%	\$661.60		
	Nonresident	Summer	7	\$1,890.20	\$13,231.40	\$1,937.50	\$13,562.20	2.5%	\$330.80		
Law, UMKC	Missouri	Semester	None	\$490.10		\$514.60		5.0%	\$24.50		
JD	Nonresident	Semester	None	\$967.60		\$1,016.00		5.0%	\$48.40		
Law, UMKC	Missouri	Semester	None	\$571.60		\$600.20		5.0%	\$28.60		
LLM	Nonresident	Semester	None	\$1,131.20		\$1,187.75		5.0%	\$56.55		
Medicine, UMKC	Missouri	Semester	16	\$590.40	\$9,446.40	\$590.40	\$9,446.40	0.0%	\$0.00		
MD, Years 1 and 2	Missouri	Summer	8	\$590.40	\$4,723.20	\$590.40	\$4,723.20	0.0%	\$0.00		
	Regional	Semester	16	\$885.60	\$14,169.60	\$885.60	\$14,169.60	0.0%	\$0.00		
	Regional	Summer	8	\$885.60	\$7,084.80	\$885.60	\$7,084.80	0.0%	\$0.00		
	Nonresident	Semester	16	\$1,180.80	\$18,892.80	\$1,180.80	\$18,892.80	0.0%	\$0.00		
	Nonresident	Summer	8	\$1,180.80	\$9,446.40	\$1,180.80	\$9,446.40	0.0%	\$0.00		
Medicine, UMKC	Missouri	Semester	18	\$572.30	\$10,301.40	\$580.90	\$10,455.90	1.5%	\$154.50		
MD, Years 3 thru 6	Missouri	Summer	12	\$572.30	\$6,867.60	\$580.90	\$6,970.60	1.5%	\$103.00		
	Regional	Semester	18	\$858.50	\$15,453.00	\$871.40	\$15,684.80	1.5%	\$231.80		
	Regional	Summer	12	\$858.50	\$10,302.00	\$871.40	\$10,456.50	1.5%	\$154.50		
	Nonresident	Semester	18	\$1,144.60	\$20,602.80	\$1,161.80	\$20,911.80	1.5%	\$309.00		
	Nonresident	Summer	12	\$1,144.60	\$13,735.20	\$1,161.80	\$13,941.20	1.5%	\$206.00		
Pharmacy, UMKC	Missouri	Semester	15	\$556.00	\$8,340.00	\$583.80	\$8,757.00	5.0%	\$417.00		
Dpharm	Missouri	Summer	6	\$556.00	\$3,336.00	\$583.80	\$3,502.80	5.0%	\$166.80		
	Nonresident	Semester	15	\$1,222.50	\$18,337.50	\$1,283.60	\$19,254.40	5.0%	\$916.90		
	Nonresident	Summer	6	\$1,222.50	\$7,335.00	\$1,283.60	\$7,701.80	5.0%	\$366.80		
Pharmacy, UMKC	Missouri	Semester	None	\$420.10		\$441.10		5.0%	\$21.00		
MS and PhD	Nonresident	Semester	None	\$954.00		\$1,001.70		5.0%	\$47.70		

* Falls under SB389

UNIVERSITY OF MISSOURI - Kansas City Other Related Enrollment Fees Beginning with the 2011 Summer Session Approved January 28, 2011

	2010-2011	RATES	2011-2012 RATES					
	Per Credit		Per Credit	Flat	Percentage	Dollar		
OTHER RELATED ENROLLMENT FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change		
Information Technology Fee *	\$12.20		\$12.80		4.9%	\$0.60		
Graduate Cluster 1 Supplemental Fee	\$33.20		\$34.90		5.1%	\$1.70		
Graduate Cluster 2 Supplemental Fee (Graduate Business)	\$60.00		\$75.00		25.0%	\$15.00		
Bloch School of Business & PA Undergraduate Course Fee	\$15.00		\$20.00		33.3%	\$5.00		
School of Education Course Fee, UMKC	\$10.30		\$11.80		14.6%	\$1.50		
Engineering Course Fee	\$60.00		\$63.00		5.0%	\$3.00		
Studio Arts Fee, UMSL (BFA), & UMKC	\$25.20		\$26.50		5.2%	\$1.30		
Clinical Nursing Fee, MS (& Pre-Licensure level at UMKC)	\$166.40		\$174.70		5.0%	\$8.30		
Science Lab Fee, (expanded to include Geo Sci.)	\$11.10		\$11.70		5.4%	\$0.60		
Media & Communications Studies Lab/Studio Course Fee	\$27.80		\$29.20		5.0%	\$1.40		
Applied Dance Fee		\$150.00		\$157.50	5.0%	\$7.50		
Applied Music Fee		\$206.90		\$217.20	5.0%	\$10.30		
Examination Only - Graduate Enrollment		\$306.80		\$322.10	5.0%	\$15.30		
CE Instructional Fee - Minimum **	\$245.60		\$257.90		5.0%	\$12.30		
CE Instructional Fee - Maximum	\$792.00		\$831.60		5.0%	\$39.60		

* *Falls under SB389* ** This fee is equal to the resident undergraduate tuition rate and assumes a 5% increase in that rate.

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY **Tuition Rates** Beginning with the 2011 Summer Session Approved January 28, 2011

TUITION	2010-2011 RATES		2011-2012 RATES						
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate*	Missouri	Semester	None	\$245.60		\$261.60		6.5%	\$16.00
	Nonresident	Semester	None	\$646.10		\$688.10		6.5%	\$42.00
Graduate	Missouri	Semester	None	\$306.80		\$326.70		6.5%	\$19.90
	Nonresident	Semester	None	\$792.00		\$843.50		6.5%	\$51.50
Business,	Missouri	Semester	na	\$520.50		\$554.30		6.5%	\$33.80
MBA	Nonresident	Semester	na	\$832.80		\$886.90		6.5%	\$54.10

* Falls under SB389

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY **Other Related Enrollment Fees** Beginning with the 2011 Summer Session Approved January 28, 2011

	2010-2011	RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$13.00		6.6%	\$0.80
Engineering Course Fee	\$60.00		\$67.20		12.0%	\$7.20
Science Supplemental Fee for Biological Sciences and Chemistry	\$60.00		\$65.40		9.0%	\$5.40
Science Supplemental Fee for Computer Science, Geology, and					[[
Geophysics	\$60.00		\$64.20		7.0%	\$4.20
Science Supplemental Fee for Physics	\$30.00		\$32.10		7.0%	\$2.10
Business, IS&T and M&IS Course Fee	\$30.00		\$32.70		9.0%	\$2.70
Examination Only - Graduate Enrollment		\$306.80		\$326.70	6.5%	\$19.90
CE Instructional Fee - Minimum**	\$245.60		\$261.60		6.5%	\$16.00
CE Instructional Fee - Maximum	\$792.00		\$843.50		6.5%	\$51.50

* *Falls under SB389* ** This fee is equal to the resident undergraduate tuition rate and assumes a 6.5% increase in that rate.

UNIVERSITY OF MISSOURI - St. Louis Tuition Rates Beginning with the 2011 Summer Session Approved January 28, 2011

TUITION		2010-2011 RAT	ES	2011-2012 RATES					
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$245.60		\$257.90		5.0%	\$12.30
	Nonresident	Semester	None	\$631.90		\$663.50		5.0%	\$31.60
	Metropolitan	Semester	None	\$245.60		\$257.90		5.0%	\$12.30
Graduate	Missouri	Semester	None	\$306.80		\$322.10		5.0%	\$15.30
	Nonresident	Semester	None	\$792.00		\$831.60		5.0%	\$39.60
	Metropolitan	Semester	None	na		\$322.10		na	na
Optometry, UMSL	Missouri	Semester	16	\$557.10	\$8,913.60	\$585.00	\$9,360.00	5.0%	\$446.40
OD	Nonresident	Semester	16	\$1,042.60	\$16,681.60	\$1,070.50	\$17,128.00	2.7%	\$446.40

* Falls under SB389

UNIVERSITY OF MISSOURI - St. Louis Other Related Enrollment Fees Beginning with the 2011 Summer Session Approved January 28, 2011

	2010-2011	RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$12.40		1.6%	\$0.20
Graduate Cluster 1 Supplemental Fee	\$33.20		\$34.20		3.0%	\$1.00
Graduate Cluster 2 Supplemental Fee	\$60.00		\$61.80		3.0%	\$1.80
Business School Undergraduate Course Fee	\$35.50		\$36.60		3.1%	\$1.10
Engineering Course Fee	\$60.00		\$61.80		3.0%	\$1.80
Studio Arts Fee, UMSL (BFA)	\$25.20		\$26.00		3.2%	\$0.80
Clinical Nursing Fee, MS	\$166.40		\$171.40		3.0%	\$5.00
Nursing Course Fee, BSN, 4-Year	\$154.10		\$158.70		3.0%	\$4.60
Science Lab Fee	\$11.10		\$11.40		2.7%	\$0.30
Media & Communications Studies Lab/Studio Course Fee	\$27.80		\$27.80		0.0%	\$0.00
Social Work Practicum Supplemental Fee	na		\$5.00		na	na
Theater and Dance Supplemental Fee	\$27.80		\$27.80		0.0%	\$0.00
Applied Music Fee		\$206.90		\$213.10	3.0%	\$6.20
Examination Only - Graduate Enrollment		\$306.80		\$322.10	5.0%	\$15.30
CE Instructional Fee - Minimum**	\$245.60		\$257.90		5.0%	\$12.30
CE Instructional Fee - Maximum	\$792.00		\$831.60		5.0%	\$39.60

* *Falls under SB389* ** This fee is equal to the resident undergraduate tuition rate and assumes a 5% increase in that rate.